Suma oe Corazores (F)

.Cual es el valor de cada corazén?

4 + \3_:6 7+ \R/.:12 1+ \l'.l/,:?)
5+V\Q/,_:11 6+\C/.':7 2+'\LVI/-:9
9+\N/-:15 9+\:/:10 2+--\V/.:10
5+ \L/-:12 6+\L =11 1+\W/:7
8 + \S/_-=17 7+\P/:9 3+‘\J/’.=6
9+\A/-:16 3+ \E/:9 2+r\D/::7

Ahora calcule las siguientes respuestas:

< &

Q + A |
W
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Suma oe Corazores (F) Respuestas

44 G =6
N
2
5+ @ =11
p—
6
9+ N =15
o
§)
5+ L =12
N
7
8+ S =17
N
9
9+ A =16
N
7

.Cual es el valor de cada corazén?

7+ R =12 1+ H =3
o s
5 2

6+ € =7 o1l M —o
Y &
1 7

9+ F =10 24+ V=10
& &
1 8

6+ T =11 1+ W  —7
o’ N
5 6

7+ P =9 3+ J =6
A o
9 3

3+ E =9 24 D =7
G N4
6 5

A
Q + A"":13
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